ADJUSTABLE ROLLER CARRIER
ATTACHED W/ (2 1/4" x 1/2°
BOLT & NUT PER BRACKET

o
@0 o
®|o

N

12 GA. GALV. COMMERCIAL ﬂ:: e
TOP FIXTURE ATTACHED , .
W74 1/74° % 374" HEX 2 10-BALL STEEL 4.5 EACH CENTER STILE
HEAD SCREWS PER MIN> STEM ROLLERS
BRACKET W/ 7/16* RETAINER FOR
X X ) NON-THREADED SHAFTS
e ——
EY&ICAL TOP_FIXTURES 1
o SEE PAGE 3 FOR OPTIONAL

GLAZED SECTIDNS
STRUT AND STILE LAYDUT

S

3 18GA.
W/ (@ 1/4" x 3/4"

14GA, DURASAFE

CENTER HINGE ATTACHED
W/ (4> 1/4" x 3/4°
HEX HEAD SCREWS

STRUTS ATTACHED A ¢ M650)
24 GA SKIN (M950>

X HEAD SCREWS AT

e
()
0

12 GA COMMERCIAL

2’ TOP FIXTURE ATTACHED
W/(4) 1/4" x 3/4" HEX HEAD SCREWS
ADJUSTABLE SLIDE BRACKET ATTACHED
W/@> 1/4* x 172" BOLT AND NUTS

-

TYPICAL DURASAFE CENTER HINGE 8
N.T.S.

—

N
(SPLICE>

1

'
- (1) 5/16" DIA. x 1-5/8"
H ; ; ; \ D LAG BOLT ATTACHED TO JAMB
Commcary o S } \ (THROUGH) AT EA. JAMB BRACKET
i x| STILE STIFFENERS (5 H
¥ AT ™ LOCATED IN HINGE HOLE(S)
it —\J | ON TOP SECTION DNLY 12 GA. GALV. STEEL
L : END HINGE JAMB BRACKETS
_ HOLES FOR STRUT 14 GA. ATTACHED W/ (1) 1/4"-20
ATTACHMENT (IF STRUT TRACK SPLICE BOLT & NUT
3 ! 1S REQIURED) OR (2) RIVETS
_ TP C T——-—-——
1 F B
- | THROUGH
N _J_..__
2 E 37 x 18 GA. STRUTS
(2 PER SECTION EXCEPT A
= — 1> ON TOP SECTION A
1
: D ) f_sm: (TABLE 3> ON PAGE 3
KOT SOWN K TYPICAL STILE STIFFENER i~ FOR B PRACKET STACHS
FOR CLARITY i ! j B NTS @ k TRACK CONFIGURATION FOR 6'6” UP TO 14’ TALL DOORS
: : ‘ N.T.S.
1 A
H
———'y ' .
SEE TABLE 4 ON PAGE 3
FOR STILE PLACEMENTS —§EE ‘STT‘,}%LTE S‘;AE?NE AGE 3
} 16’-0° MAX |

INSIDE ELEVATION
N.T.S.

3’ 18GA. STRUT STACKED
ON BOTTOM BRACKET
ATTACHED W/

@> 1/4° X 3/4*

HEX HEAD SCREWS

AT END AND CENTER

BOTTOM BRACKET

14 GA. THICK ATTACHED
W/(3 174" X 374
HEX HEAD SCREWS

SECTION

SPLICE TRACKS AT THIS LOCATION

W/ (4) 1/4°=20 TRACK SPLICE BOLTS & NUTS
SECURE TO JAMB WITH (3) 5/16” DIA. x 1-5/8"
LAG BOLTS

BOTTOM BRACKET
ATTACHED

W/ (5) 1/4" x 3/4”
HEX HEAD SCREWS

CONT. STEEL RETAINER
W/ CONT. BTM SEAL

A—A (SIDE_VIEW)

14 GA. DURASAFE N.T.S.

END HINGE ATTACHED

STILES W/ (@ 1/4° x 3/4°
3¢ 18GA. STRUTS HEX HEAD SCREWS
ATTACHED W/ @
174% x 3/4° HEX 14GA. DURASAFE
HEAD SCREWS AT ROLLER CARRIERS ATTACHED
2’ 10-BALL STEEL 4.5° END STILES TO END STILE W/ @ 1747 x 3/4°
MIN> STEM RI:[LEERSS HEX HEAD SCREWS PER CARRIER
W/ 7/167 RETAINER FOR
NON-THREADED SHAFTS
27 10-BALL STEEL
TYPICAL BOTTOM BRACKET( 4 L oL T
N.T.S. 14GA, RETAINER BRACKET W/ 7/16° RETAINER FOR
ATTACHED TO STRUT, NON-THREADED SHAFTS
%Né 52 SJRP ggﬂi‘;’; W/ (® 1/4° x 3/4" HEX
. HEX HEAD TEK SCREWS
(1) 5/16” DIA. x 1-5/8"
/™ LAG BOLT ATTACHED TO JAMB

AT EA. JAMB BRACKET OPTIONAL STOP
20 GA CENTER STILES MIOLDING

20 GA, GALV. STEEL
END STILE

1/4-20 x 5/8°TRACK 7/16" DIA. BOLT RETAINER
SPLICE BOLT AND NUT (1) PER ROLLER 2" GALV. STEEL TRACK
OR (@ RIVETS TRACK THICKNESS .063"
TRACK MOUNTING DETAIL
N.T.S.

TYPICAL DURASAFE END HINGE 3
N.T.S.

THE METHOD OF TESTING WAS IN SUBSTANTIAL
CONFORMANCE WITH THE PROCEDURE DESCRIBED IN ASTM
E330 AND DASMA 108. THE PRESSURES SHOWN ON THE
DRAWINGS WERE CALCULATED USING ASCE 7—-98/02/05 WITH
THE FOLLOWING PARAMETERS (5 FEET OF DOOR WIDTH IN
THE END ZONE, ROOF AT ANY SLOPE, AND [=1.0):

WIND SPEED (MPH) 133 121 115 110 105
EXPOSURE LEVEL B C C D D
MEAN ROOF HEIGHT | 30 15° 25 15’ 25

INTERIOR OF GARAGE

—=1 MAX. WDTH 160" = |-=—

seson s [LTTTTTTTTT]
+219.2 LBS/FT
~244.0 LsséFrr SEE NOTE 2

SPECIFICATIONS AND NOTES

1 ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK,
OM THE TRACK THE LOAD IS TRANSFERRED TO THE VERTICAL JAMBS.

‘IHE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD

TRANSFERRED FROM THE DOOR.

2, EACH VERTICAL JAMB RECEIVES MAXIMUM DESIGN LOADS OF:

+219.2 LBS/FT & -244.0 LBS/FT

3. DOORS AND HARDWARE WILL BE DESIGNED, MANUFACTURED

AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.

4, DOOR SECTIONS SHALL BE. 25 GA. MIN. (.019") ROLLED FORMED LIGHT

COMMERCIAL QUALITY

5. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED

BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS

INDICATED ON THIS DRAWING iN ADDITION TO OTHER LOADINGS.

6. REFER TO TABLES ON THE PAGE 3 FOR ADDITIONAL DOOR WIDTHS

AND THEIR DESIGN PRESSURES

REV | DESCRPTION OF REVISIONS DA [BY
_ a
MAX SIZE | 28 SN N
"WIDTH | 88 < \ o
14" HEIGHT | €3 SREOETE Y z
(DOOR HEIGHT | &% ” o
SUBJECT TO <E ” 2
WEIGHT LIMITATIONS)| =T I d o
| EE / o
iz 4 ]
DESIGN LOADS| S& % THE c)
raars el W 8582 pd
' 25 { 0 ‘5-'
53 N Qe dleENsEY go s s
TEST LOADS | 2 \CSSION AL ENC :
+41.1 PSF | E2 W \\N\A\L\‘ A
-45.8 PSF | &2 2
[} [=2)
u

—
>

arr,

ENTREMATIC
165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105

MODEL #650 OAK SUMMIT w/DuraSafe
MODEL #600 STRATFORD w/DuraSafe
MODEL #950 HERITAGE w/DuraSafe

Short, Long, Flush & Oak Summit Panel’s

SIzE
B

DRAWN BY  RIR

DATE  03/3/14

DRAWING NUMBER

CHECKED BY

DATE

IRC-6016-133-17

SHEET 1 OF 3




ala //// 4 Va a vala

OPTIONAL SHORT PANEL TOP GLAZED SECTION (STRUT AND STILE LAYOUTS)

OPTIONAL SHORT PANEL INTERMEDIATE GLAZED SECTION (STRUT AND STILE LAYDUT)

18-1/8* ,
im 2 ht] 2

3 B°
10-5/8"
o2 2
& o3 o2 s J
SHORT PANEL GLAZING FASTENER DETAIL
N.T.S.

GLAZING OPTION CROSS SECTION

GLAZING NOT_AVAILABLE IN WIND-BORNE DEBRIS REGION
GLAZING MEETS ASTM E1300-04

DearaFrame WINDOW FRAME
WITH UV PROTECTION

[y
/ (10) #8 X 3/4" PAN HEAD SCREWS

AT EACH SHORT PANEL WINDOW FRAME

OPTIONAL Decra INSERTS
WITH UV PROTECTION

MIN. 3/32" THICK SSB
GLASS

MOLDED INSIDE FRAME
SECTION B-B

37 18GA. STRUT LOCATED IN THE
MIDDLE DF GLAZED SECTION ATTACHED
W/(2) 174" X 3/4" HEX HEAD SCREWS
AT END AND CENTER STILES

37 18GA. STRUT LOCATED ON THE TOP
AND BOTTOM DF GLAZED SECTION
ATTACHED W/(2) 1/4° X 3/4" HEX
HEAD SCREWS AT END AND CENTER
STILES

OEOSG

N

=

DN

DOOR HEIGHT

VERTICAL LIFT

1

WOOD JAMB ATTACHMENT TO STRUCTURE

2 X 6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE
5/16” X 3’ LAG SCREWS STARTING 6° FROM ENDS THEN 22° O.C. (1 1/2° EMBEDMENT)
VERTICA ATTACHMENT NCRET
HILTI KWIK BOLT 3/8° X 4 STARTING 6 FROM ENDS THEN 24¢ OC. (2 1/2° EMBEDMENT)
HILTI SLEEVE ANCHOR 3/8° X 2-3/4‘ STARTING 6° FROM ENDS THEN 20° O.C. <1 1/4* EMBEDMENT)
ITW/RAMSET REDHEAD (TRU-BOLT) 3/8° X 4’ STARTING 6’ FROM ENDS THEN 24’ O.C. (2 1/2° EMBEDMENT)
X 6 VERTICAL JAMB ATTACHMENT TO HOLLOW C-90 BLOCK
SIMPSON 1/4° X 3” TITEN SCREWS STARTING 6° FROM ENDS, USE PAIRS OF FASTENERS
(3 APART)> AT 16’ OC. <1 1/2° EMBEDMENT)
HILTI 1/4* X 2-3/4* KWIK-CON II+ SCREWS STARTING 6’ FROM ENDS, USE PAIRS OF
FASTENERS (3“ APART> AT 16’ OC. (1 1/4° EMBEDMENT)

X 6 _VERTICAL JA TTACHMENT T R K (2000 PSI GROUT)
HILTI SLEEVE ANCHOR 3/8° X 2-3/4” STARTING 6' FROM ENDS THEN 227 0O.C. d 1/4*
EMBEDMENT> (OR, USE FASTENERS FOR HOLLOW C-90 BLOCK>

#LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
*PREPARATION OF WODOD JAMBS BY OTHERS

A Y
CONCRETE HOLLOW BLOCK GROUTED BLOCK

wooD
E. STRUCTURE STRUCTURE STRUCTURE STRUCTURE
g i ! F
a .
\ \ \ » \
g -<| ~\| ':I
J J T - LT
172* MIN 2-3/4" MIN 1-1/2* |MIN 4
L 2X6 JAMB
TYP. 37 MIN
REV | DESCRIPTION OF REVISIONS DATE:  |BY
_ 3
MaX SIZe R SN S
» m : - o
14 HeiGHT | 88 PAN E.Qf..tf*;\ A
¥ —— w (3 =
l‘}ﬁ; (DOOR HEIGHT “Z ~ O AN ‘) s /
a SUBJECT TO EE s
WEIGHT LIMITATIONS) :E ,/ : s §
o fuy
i/ 5
DESIGN LOADS| 5% £ d/y’
+27.4 PSF | 28 N 7% <
Eg AN 2>
-30.5 PSF | B% E
= = [
58 '~‘I9 £
TEST LOADS | %S W S/ONA\_ 3
+41.1 PSF | 58 M o
= -458 PSF | £& b
5 g "3 TX 3
E | g 3
- . T
3 im Al z | p a”
= } = o
I ) w 6 |} R
) ﬁ ENTREMATIC
165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105
MODEL #650 OAK SUMMIT w/DuraSafe
A MODEL #8600 STRATFORD w/DuraSafe
MODEL #950 HERITAGE w/DuraSafe
i W W Short, Long, Flush & Oak Summit Panel’s
AVAILABLE TRACK CONFIGURATIONS SIZE| DRAWNBY  RIR| DATE 03/3/14 DRAWNG NUMBER
N.TS. B | cHeckeD BY DATE IRC-6016-133-17
SHEET 2 OF 3




TABLE 4 TABLES TABLE 1

Max Design Loads

) , ) oot
Section bl Tooe Center Stile Locations (Measured from Left Edge) ection Panel Type _ Allowed _ S SPACING ( EDONRE SECTION T O\D TP
Width VPO ISt T 2st 3rd 4th 5th 6th 7th Width Positive | Negitive H | J K L M N T
® @y |y | Gn) (in) (in) (in) (in) () (PSF) | (PSF) HEIGTT A | B _ C : D _ E : F _ G =7
1070 | Short [ 7573| 48.41 | 7159 | G4ig 10°0 | Short 36.7 408 66" |51/2'|1181/4"|251/2'|36 1/4"|431/2'| 54 1/4 ‘
100 long | 3060/ 60.00 | . 100 long | 219 24.4 70" [51/2'1181/4'(251/2"'| 39 1/4" |46 1/2'| 60 1/4' 731/2
ADICN SEETUIL e T = I L 76 |5 12|15 U4 |2 112'| 3B 14 [40 112 |51 14|58 /2 |69 114" 81"
1270 | Short | 25.62 f #88% | 72.00 1220 | Short 28.0 31.1 : - ; T ]
12°0 Long | 27.25 ¢ " 72.00 12°0 Long 29.3 32.7 80" |51/2'(181/4'|251/2"'|36 1/4"|431/2'| 54 1/4" |61 1/2"| 72 1/4 851/2
12'0 |Oak Summit| 24.63 | 4 72.00 12:0 Oak Summit] ;7.7 2(1)2 86" |[51/2'118 1/4"{25 1/2"130 1/4" |46 1/2"|60 1/4"| 67 1/2'| 78 1/4" 91 1/2"
Lo e 00 T e S 90 |52 |15 14|22 12|33 VA" |40 /2’| 51 V4 |58 112'| 60 14| 76 112'| 87 14" Y]
722 [Oak Summil 25.13 73.00 1272 [Oak Summit]  27.4 30.5 96" |51/2'|18 1/4"|251/2'|36 1/4" |43 1/2"| 4 1/4" |61 1/2'| 72 1/4"| 79 1/2"} 90 1/4" 103 1/2"
124 | Shont |27.27 74.00 A e 100" |51/2]18 1/4"| 25 1/2"[ 39 1/4"] 46 1/2" 60 1/4"| 67 1/2"| 78 1/4"[85 1/2'] 96 1/4" 109 1/2"
12'4 Long 28.17 74.00 ' ong . : n : - : m : m v m : - - 15172
O oy KoL o T loa s T 502 106" [51/Z]18 V425 12'[30 1/4']46 1/2'[€0 14" |67 /2 [81 1 88 1/2 102 1/4 ' ] 51z
12°6 Short | 26.34 75.00 12:6 Short 27.0 30.0 110" [51/2'[18 1/4"(25 1/2'| 36 1/4" |43 1/2"| 54 1/4" |61 1/2" |72 1/4"| 79 1/2'| 90 1/4" | 97 1/2" | 108 1/
126 1 Long 75.00 T L 16 |5 1/2 |18 V4'[25 /2|30 1/4"[46 1/2° |60 14| 67 1/2'| 78 1/4"| 85 1/2'| 96 1/4" | 103 1/2| 114 1/4" 27 12
122 Qe sunmi o0 T Shot | Z0 300 20" |51/2[18 14|25 /2|30 14|46 12|60 1/4' |67 112" |81 1/4'|88 /2| 102 /4" | 109 112 [ 120 V4" B2
12°8 Long 76.00 12:3 Long | 275 30.6 126" |51/2'(18 1/4"{25 1/2'{36 1/4"|43 1/2"|54 1/4" |61 1/2"| 72 1/4" |79 1/2'| 90 1/4" | 97 1/2" | 108 1/4"| 115 1/2'| 126 1/4"|130 1/2"
25 10k Surm 7500 : . L R 130" |5 1/2°[18 /4|25 1/2'| 39 1/4"[ 46 1/2"| 60 1/4" 67 1/2'[ 78 1/4"( 85 1/2'| 96 1/4" | 103 1/2'| 114 1/4"| 121 1/2'[ 132 1/4"|145 1/2'
' 0 7. 9 . - " " v " q " v " 0 " v " v " v " v
12°10f Long 77.00 | ) | 124.80 i 72710] long | 275 30.6 136" |51/2'|181/4"(25 1/2'| 39 1/4"| 46 1/2'| 60 1/4" |67 1/2"| 81 1/4"| 88 1/2'| 102 1/4"| 109 1/2" 120 1/, i 127 1/2‘ 138 1/ i 151 1/2"
12710 [Oak Summi 77.00 | 10194 | 126.88 12°10 |Oak Summiy  26.3 293 140" |51/2'[18 1/4"(25 1/2'( 30 1/4"| 46 1/2"| 60 1/4" |67 1/2" |81 1/4"|88 1/2'[ 102 1/4"| 109 1/2" {123 1/4"| 130 1/2"| 144 1/4"|157 1/2
130 Short 78.00 | 10300 { 128.00 i 13'0 Short 263 29.2
730 | Long 78.00 | 7 125.80 }g‘g B kLgng 125 | we TABLE 2
] i ) ak Summi 3 5
lgg Oaksig:mn ZSL’S e 132 | Shot 263 29.2 DOOR SECTION HEIGHTS
13"2 Long 79.00 13'2 tong | 275 30.6 HEIGHT [Btm | #2 | #3 | #4 | #5 | #6 | #7 | #8
13 2 |Oak Summi] 79.00 1372 Joak Summi _25.8 28.7 40 |21 [ 217" [ [ 21" [ 21" [ 21" [ 217 [ 21"
134 Short 80.00 :glj fhort 52(13 gg? 136 121" 21" 21" 121" [ 21" | 18" | 18" | 21"
34 L 80.00 ong ) - = o e o e e e e
s i 57 4_[Oak Summi] 256 | 264 e e e
; 736 | Shor %56 785
13'6 Short 81.00 T W m 0 W w 0 0
] 136 | Lon 26.1 29.1 270" | 21" [ 21" [ 21" [ 21" [ 21" [ 18" [ 21
13 6 Long - 81.00 b g 1. - v " [ " " " Ll L 21"
136 |Oak Summit T 81.00 13'6 Oak Summit| -~ 25.3 28.2 11'6 21" 21“ »21" 18" 18u 18“ -
738 |  Short 82.00 1378 [ Short 256 285 10" | 21| 18- 18" | 18" | 18" [ 18" | 21
138 Long - 82.00 13'8 Long _ 25.9 28.8 06 (21" 21 [ 217 [ 24" | 21" | 21"
138 [0ak Summit 82.00 13'8 Oak Summif| _ 25.1 27.9 00 (2 2 o1 18 | 18" | 217
13°10|  Short 82.94 1310 Short 25.5 283 o e Tie [1e 18 | 21
37 2.4 | 283 96
13.10] Long 83.00 3 10]_Long ~ : 5o TieTig e i 18 | 1e"
T3 16 150k Somre 33.00 1310 Oak Summit| __24.8 276 e L B e i
140 Short 83.94 14' 0 Short 251 27.9 =k _ " _ _ _
e b A T ok S 2574 o S Rl R R RT
14°0 [Oak Summit| 30.63 | 5737 | 84.00 ax Summi : : ' 6" t118" 18" 18" 18"
TS . e T S 2 7o (2 [ 2r [ |2 REV | DESCRPTION OF REVIONS DAE [BY
' 2 L . - - AN W 0 0 W
1:- 5 Oak‘s”;?,,mn g:gg 142 [Oak Summit| 244 27.1 o6 |217]187)18" |21
et L _ g
14'4 L 86.00 ong ) . i
777 [0k Sum 86.00 1474 [Oak Summif 241 ] 269 TABLE 3 _ 1%?XW|SS%E §§ N
146 | Shot 86.94 e fg,?; ol 2 DOOR TRACK ATTACHMENT SPLICE 14' HEIGHT | 23 2
146 | Long 87.00 A _ : - ‘ wik g
146 _|Oak Summi 87.00 1476 Oak Summitl 239 | 268 HEIGHT|A | B ] C | D EJF1GIH S metr o, xE 3
148 Short §7.94 14'8 Short 24.0 26.7 6'6" |[10"] 21"} 39" |57 70 WEIGHT LIMITATIONS)| =2 £
T3 Tong B 14°8 Long 29.8 33.2 7' 10" 21" | 42" | 83" 76" & @
: - 1478 [Oak Summi|  23.7 76.4 g i ©
o LAl T4 10| Short 237 | 264 76" 10") 18" | 36" | 54" | 72" 82" DESIGN LOADS| £& i
1:: 13 fgﬁg 23'33 7410 Lo:g %95 328 8 [10"]21"|39" | 57" | 75" 88" +27.4 PSF EE’ f\/fti
: - AN .. W w W W W _ Eo >
12710 Joak Summit 39.00 14' 10 [Oak Summit] 23.2 ;6? 8 ? 10" 21" 42" 63" 81" _ 94 _ 30.5 PSF K -§
150 | Short 89.94 150 ] Shot | 23 6. 9 [10[18"[36" [ 54" [ 72" | 90 100 a3 g
150 | Long 90.00 e 96" |10"| 21" | 39" | 57" | 75" | 93" 106" TEST LOADS |2 E s
150 10ak Summit 90.00 }gg Oaksiu:mm 53 e 10° |10"| 21" | 42" [ 63" | 81" [ 99" 112" +41.1 PSF | EZ o
152 | Shor 90.94 = Logg e — 06 10" 121" 122 (63" | 84" [105° e -45.8 PSF | 2 ; §
15'2 Long 91.00 - - - - ; YD 0 m 0 0 0 0
15 2_|Oak Summij] 91.00 1572 OakSSummEl gg; ;?; 1 i P 29" 57" g? 33" 11; Egu a
54 | Shot 79.20 156.00 ke, hort : - 116" j10") 21" | 42" | 63 - -
754 | Long 92.00 154 | Long | 285 | 918 12° [10"[21"[42"| 63" | 84" [105"[123 136
15 4_[Oak Summit 92.00 gk Smnn, 228 22 126" _[10°| 21" | 39" | 57" | 75" | 93" [111"|129"| 142"
156 | Short 93.00 =g Lo:g 553 W 137 |10"] 21" | 42" | 63" | 81" | 99" |117"]135"| 148" ENTREMATIC
15'6 Long 93.00 - , . . 6" 11071 21" | 42" | 63" | 84" [105"[123"1141"| 154"
75 6 |Oak Summil 93.00 1:“; Oaksi“:"““ g?‘; g}:‘ 1‘:’ oo T Ter Ter Tos o T 160" 165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105
158 | Short 94.00 58 Lo,‘fg 79 T 377 e ALLOWED MODEL #650 OAK SUMMIT w/DuraSafe
o] tog 440 1578 [oak Summi 279|311 it A OR TTEPNENT AN ol A MODEL #600 STRATFORD w/DuraSafe
I 5500 510] Shoi | 276 | 308 MODEL #950 HERITAGE w/DuraSafe
T5770]  Long 95.00 15°10] Long 21.6 30.8 Short, Long, Flush & Oak Summit Panel’s
15710 [Oak Summi 95.00 L SIE| DRAWNBY  RIR| DATE 03/3/14 DRAMNG NUMBER
60 | Short 96.00 ort 274 | 305
60 | Long |25 : 16'0 | Long 204 30.5 B | cHecke BY DATE [RC-6016-133-17
16 0_|Oak Summil] 48.42 ) 160 [Oak Summity 274 | 30.5 SHEET 3 OF 3
¥SHADED STILES ARE NOT HINGED




